LOHOHEE D Do o






Contents

HobO OO0 OO0 U0 DO0OO200000 200000002000 oDt 000000on2
2
3

3
L0000 0o Oooo Uooooos
3
4

4
4000000000 OO0 D00000000H0s
5

5

5

e LU DHUUOUOOUM e

6

7

7




CONTENTS



HOHOHEE D Do o

AN



2 CONTENTS

0 Do0000 00 00 00000 bood 000000 00 00 boo0 00 0000 000

0 0000000 DO0000000 00 0000 U0 00 00 0000000 0000000 000
OOCOO0O0 DHOO0 OO «HO0000H- 0o O, 000000 000 0000 OO0
U0 OHO0 400 OO 0000 0000 00000, 0000 000 0000 000 000000000
LOOOO00 00 00000 D000 H0 DO00 DHO0 OO00-00000 000 00 00000
U0 0000 0000 B0 00000 B000 00 00 0000 00 0 0000 0000

[ [0, 85-95

0 000000 OO DOO00 Ho0oo 00 fOo0od D00 U0 OO0 2000 fO00 00O
HOO000
0 000000 0o 00000 Do00 DOO0 0o D00 000 Oo000a 00 00 0000
U000 0000000 00 00 0000000 0000 00 0000 0000000 00000 00
OHO0 00000 DOO000 OO D00 0000 Oood oo
HO000000
0 OOOOO0 DOO0OO0 Ho 0000 oo Dooo DOOooOoOo0 ooo D0o0oo
U0 HOOH00O0 000000 U0, D000 00 J0000o000 0000 00 000000
0000 00 D0 0000 U0 0000000 00 000000000 00 0000 00 0000
U000 U000 00 (@d.s-syd, DHUOOO0U000 U0 00000 0000 00 0000
UIOOO0 DOOOO00 00 0000 00 Do0o0on 00 00000 2000 4o 0ooo
OI000 OO0 @9 HOHO0O000O00 00 DO0000 U0 00 U0 00000000
UHOO00 OU0 00 0000 U0 U000 00 CoaU, D000 000000 00 00000
U000 00 00 00000 OO 0000 000 0000 (.40
00 0o00
U OOOoOCOO0o o0 DOOCO-0o00o0 Uo0o0oo 1. Do00000000 — 1:1-
4 2. HOOOOO0 DOO000 OO0 00000 000000 — 1:5-8 3. HOOH0 D000
000 00 000000 0000 — 1:9-12 4. OO00000 — 1:13-15
OOoOOOO0000 x-occurrences ="1” [ | | ]|x-occurrence ="1"
x-occurrences ="1", OO )x-

occurrence="1”" x-occurrences="1"

10 |x-occurrence ="1" X-
occurrences|= o 000000 |- L |x-occurrence = "1” x-occurrences = "1”
occurrence="1" x-occurrences="1" O [x-oceurrence =1 x
[J|x-occurrence =”1” x-occurrences = » PF T ENCes = "1” LU |x-occurrence =1
00 o _ »Jmoccurrences = ”1” O x-
|x-occurrence = ”1” x-occurrences =

[JJ|x-occurrence = "1” x-occurrences = » P U M€ = "17 x-occurrences="1"
[ [|x-occurrence ="1” x-occurrences =" +[|x-occurrence ="1” x-occurrences ="1"]

LOOE | x-occurrence =17 X-
occurrences ="1” [ |/|x-occurrence ="1”
x-occurrences ="1” [ | ]|x-occurrence ="1”



CONTENTS 3

2[I[J|x-occurrence ="1" x- UL x-occurrence ="1” X-
occurrences ="1" | ] | ]|x-occurrence e¢tirrences ="1” [ | ]|x-occurrence ="1”
x-occurrences ="1”, O00|x- x-occurrences=717 1, [|x-

occurrence="1" x-occurrences="1" occurrence="1" x-occurrences="1"
[ [|x-occurrence ="1” x-occurrences = "1’ ||x-occurrence = ”1” x-occurrences = "1”
UOOOOOOE ) x-occurrence="1”  x-  [Jl|x-occurrence ="1” x-occurrences ="1"

occurrences ="1"[ | ]|x-occurrence =171 I L] ]|x-occurrence ="1” X-
x-occurrences ="2”; [ | ]|x-occurrence = "d¢currences ="1” [ | | | ]|x-occurrence ="1"
x-occurrences ="1” LHE)x- x-occurrences="1”[ | ]|x-occurrence ="1”

occurrence="1" x-occurrences="1" x-occurrences="1”,[]] |x-occurrence ="1"
[ [|x-occurrence = "1” x-occurrences = "X occurrences = "1” [ | [ ]|x-occurrence ="1"

OO x-occurrence =17 X- x-occurrences="1" O x-
occurrences ="1" LOEEEE | x- occurrence="1"  x-occurrences="1"
occurrence="1" x-occurrences="2" []l|x-occurrence="1"x-occurrences="1"
[I]x-occurrence =”1” x-occurrences = "1’ [ [ [ /|x-occurrence ="1" X-

[[]|x-occurrence ="1” x-occurrences =8t ¢urrences ="1” [ | | |x-occurrence ="1"
[I]|x-occurrence = "2” x-occurrences = "X?pccurrences = "1 |

LU |x-occurrence =717 x-occurrences =17

HN |x-occurrence ="1”x-occurrences ="1"

[I]|x-occurrence = 72" x-occurrences="2" 4[] ] J|x-occurrence="1"
[IJ]x-occurrence = "1” x-occurrences = ”K2occurrences = ”1” OO x-
L |x-occurrence =17 X- occurrence="1" x-occurrences="1"
occurrences ="1” [ I]|x-occurrence =1 | | Il|x-occurrence ="1" X-
x-occurrences ="1” (OO %= occurrences =717 [I|x-occurrence =717
occurrence ="2" x-occurrences="2" x-occurrences="1"[]|]|x-occurrence="1"
[JJ]x-occurrence = "1” x-occurrences =#1d¢currences = ”1” o000 x-

[I]]x-occurrence = 71" x-occurrences = "becurrence="1" x-occurrences="1"

'] x-occurrence = "1” x-occurrences =11 | /|x-occurrence = ”1” x-occurrences = "1”,
[T x-occurrence = 17 x-occurrences =”i%-occurrence = ”1” x-occurrences = ”2”
[L)]x-occurrence = "1” x-occurrences =1 1|x-occurrence = ”1” x-occurrences = "1”

HOOEE | x-occurrence =17 X-

occurrences="1”, [ [ ||x-occurrence = 72"

x-occurrences = "2” O x-

3000 | x-0occurrence="1"  occurrence="1” x-occurrences="1"

x-occurrences ="1” [ []|x-occurrence =11 | ll/|x-occurrence ="1" X-
x-occurrences ="1” U000 ) x-+ oceurrences =717 [ ] I ]|x-occurrence="1"
occurrence="1" x-occurrences="1" x-occurrences="1"[]J|x-occurrence="1"
[ [|x-occurrence = "1” x-occurrences = ”k?occurrences = "1” OO0 x-

LJ|x-occurrence = "1” x-occurrences = 8t¢yrrence ="1" x-occurrences="1"

U0 | x-occurrence = ”1” x-occurrences =1 7|x-occurrence = ”1” x-occurrences = 17|
[ |x-occurrence ="1” x-occurrences =17 [|_J_J_]J] L] L0000 COCOCC

L x-occurrence = ”1” x-occurrences = ”1”

[[J|x-occurrence ="1” x-occurrences ="1”

1+ 1.3 U000 00 OO0 00 00000 O0:- 00 00 000 0000 00 000000 000000 0000
U0, 00000 000 000000 DO0000 000 000000 00 0000 00 0000 000000 0000 000
U0 00 000000 0o oo tooad




4 CONTENTS

501 J|x-occurrence ="1" x- [LL|x-occurrence ="1” x-occurrences ="1”
occurrences ="1" | |l []|x-occurrence =1’ | ]|x-occurrence ="1" X-
x-occurrences ="1”, [ | ||x-occurrence = "d¢currences = 72" [ | | ||x-occurrence ="1"
x-occurrences = "1”[]]|x-occurrence = ”K2occurrences = 1" HO0000) x-
x-occurrences = "2” [ | /|x-occurrence = "becurrence ="2” x-occurrences = "2"
x-occurrences ="1" OO0 x- - DOOOOO0M x-0occurrence =717 x-
occurrence="1" x-occurrences="1" occurrences="1"[]J|x-occurrence="2”
[I[J|x-occurrence = "1” x-occurrences = "X occurrences = ”3” OO )x-

L] x-occurrence = 717 x-occurrences = 2¢urrence ="1"  x-occurrences="1"
OO ) x-occurrence =717 x- [|x-occurrence =”3” x-occurrences = 3"

occurrences ="1” | | ]|x-occurrence ="1"1 | [ l|x-occurrence ="1” x-occurrences ="1"
x-occurrences ="1” [ | ]|x-occurrence = "1’ | | ]|x-occurrence = "1” x-occurrences ="1”
x-occurrences="1" [ |- [l|x-occurrence ="1” x-occurrences ="1”
occurrence="1" x-occurrences="1" 2 [U|x-occurrence="1"  x-
[[]|x-occurrence = 2" x-occurrences = "®¢currences ="1” [ [ I [ [ ]|x-occurrence ="1"
L[|x-occurrence = "2” x-occurrences =%a¥ccurrences = "1” L0000 -
[IJ|x-occurrence = ”2” x-occurrences = ”&tcurrence = "2” x-occurrences = "2”/ |
[I[J|x-occurrence ="1” x-occurrences ="1”
HHOOEOE OO x-occurrence = 717

—nyn _
x-occurrences ="1”_|L||x-occurrence="3" ] |x-occurrence ="1”

x-occurrences ="3” [ | | ]|x-occurrence="1” 17 -
s »JGoceurrences = 1 |x-occurrence ="1
x-occurrences ="1” [ | ]|x-occurrence = —»17 [ _»»
N X-occurrences ="1 |x-occurrence ="1
x-occurrences = "1"_]

x-occurrences ="1” [ | | ]|x-occurrence ="1"
x-occurrences ="1” [ | ]|x-occurrence ="1”

6L LI | x-occurrence = 1" x—occurrences”=,:’1 ’ DDDD,J x
x-occurrences =17 000000 x- occurrence="1" x-occurrences="1
occurrence="1" x-occurrences="1" LU x-occurrence =17 X
[ |x-occurrence =717 x-occurrences = » - CUITENCes = ”1: QDD |x-occurrence = ”,1, ”,,
00 x-oceurrence = 17 X-occurrences = ”1 " [ )|x-occurrence ="1
occurrences = 17 [ TJ0|x-occurrence = ¥{9Ccurrences =’ 17 HOOOOOO ,\’\ \Lx
x-occurrences =17 0000 |x- occurrence="1" x-occurrences="1
occurrence—"1”  x-occurrences =17 [J|x-occurrence ="1” x-occurrences ="1”
[I[)|x-occurrence ="1” x-occurrences =" +J]jx-occurrence ="1" x-occurrences =1
0000 x-oceurrence =717 - [ [ll)|x-occurrence = "1” x-occurrences = "1”

occurrences =17 [ jx-occurrence = "1 »_ILIJ|x-occurrence =”1” x-occurrences ="1"_]

x-occurrences ="1” [ | ]|x-occurrence ="1"

x-occurrences = "1 L x-
occurrence="1" x-occurrences="1" 8 LI x-occurrence = 1"
[IJ]x-occurrence ="1” x-occurrences = ”¥2occurrences = ”1” OO x-
LOOOEE | x-occurrence =17 x- occurrence="1" x-occurrences="1"
occurrences ="1" ] ]|x-occurrence = 1" |x-occurrence = "1” x-occurrences = 1"
x-occurrences ="1" LEOOE ) x- - OEEOE jx-occurrence =17 X-
occurrence="1" x-occurrences="2" occurrences="1" || ]|x-occurrence ="1"
2+ 1.6 UOOOOOO0 DO DOOOO OO OO0 0000 00 D000 000, 0000 0000 D000 U0

L0000 00 Do00 0000 000 00 0000 0000 0000 00 0000 000 00 000000 0000




CONTENTS 5

x-occurrences ="1" LU )x-+ L |x-occurrence =17 x-occurrences = 1"
occurrence="1" x-occurrences="1", [l ||l]|x-occurrence="1"x-occurrences="1"
LOOEE | x-occurrence =17 x- ]| x-occurrence =717 X-

occurrences ="1" | ]|x-occurrence ="1"occurrences ="1” [ | ]|x-occurrence ="1”
x-occurrences = "1"[ ] ]|x-occurrence = "¥2occurrences ="1” [ | ]|x-occurrence ="1”
x-occurrences ="1" LU00|x- x-occurrences ="2” [ | |x-occurrence ="1"
occurrence="1" x-occurrences="1" x-occurrences="2" O x-

U] |X-occurrence ="1" x-occurrences = "becurrence="1" x-occurrences="3"

L) x-occurrence = 717 x-occurrences &”1%-occurrence = ”1” x-occurrences = "4”
[[]|x-occurrence ="1” x-occurrences =" | ||x-occurrence ="1” x-occurrences ="1"

L x-occurrence =17 x-occurrences =711 | [ [ [ /|x-occurrence="1"  x-
LOEEHON x-0ccurrence =17 x- occurrences="1", [l ]|x-occurrence="1"
occurrences ="1"[ | | /|x-occurrence = "1 occurrences = 1" [ ||x-occurrence = 72"
x-occurrences = "1 x-occurrences =727 HO000) x-
EEOEOEEEOE O OEOEOEEEE decurrence =71" - x-occurrences =717

L x-occurrence = "1” x-occurrences = "1”

[ T]|x-occurrence = ”1” x-occurrences ="1"
9L L | x-occurrence = 1" | w1 oy
occurrences "1 OOOO0 L) x-occurrence = 17 x-occurrences = 72”-
L) x-occurrence = 727 x-occurrences = 72”7

i s LU x-0ccurrence ="1” X-

[J|x-occurrence = ”1” x-occurrences =
DD|D o gceurrences="1" [ | [ ]|x-occurrence="1"
|x-occurrence ="1” x-occurrences = 1 oy
x-pegurrences ="1” [ | ]|x-occurrence =2

L) x-occurrence = 717 x-occurrences = ngr. (] »1
[ [)|x-occurrence = "1” x-occurrences = » [OCCUITENCES = 47 LL|x-occurrence ="1

i »fsbecurrences =3 [I']|x-occurrence ="1”

[I]]x-occurrence =”1” x-occurrences = oy 7 N

»an  X-occurrences="1"[]l]|x-occurrence="1

OO0 x-0occurrence = 71 _»17[[] _n»

x-occurrences =17 ]| x-occurrence = "170C L eNCes = 1" LU|x-occurrence =1
x-occurrences ="1" O0000)x. Xoccurrences = v S
occurrence="1" x-occurrences="1" occurrence ="17 x-occurrences="17

N Q |x-pccurrence ="1” x-occurrences ="1"
L] x-occurrence = "1” x-occurrences e .
[IL,¢ | |x-occurrence = "1” x-occurrences = "1

U x-occurrence =17 x-occurrences =" |x-occurrence =17 <

occurrence="1" x-occurrences="1"

O |x-occurrence =717 X- —17 ] .
occurrences ="1” [ ]|x-occurrence = 717U enees = ! [x-occurrence ="1
ot x-occurrences ="1" OOOO00|x-
x-occurrences="17, OO0 x- A " m
occurrence =17 x-occurrences="1" occurrence="1" x-occurrences="1
(I x-oceurrence =17 N [ )|x-occurrence = "1” x-occurrences = "1”

i - i LJ|x-occurrence ="1" X-
occurrences ="1” [ ] Il|x-occurrence = - | - .
-OCCUIrences = 17 (D00 occurrences ="2"[ | | [ ]|x-occurrence="1

x-occurrences ="1" OO0 -

occurrence ="1” x-occurrences = 1" ] yerss Lo
occurrence ="2"” x-occurrences="3",

[ )|x-occurrence = "2” x-occurrences = "3”

HOOEEE | x-occurrence =17 X-

10l |x-occurrence ="1” x-  occurrences="1” [ /|x-occurrence ="2”
occurrences ="1” [ | | ]|x-occurrence ="®.occurrences = "2" o000 x-
x-occurrences ="1” [ | | ]|x-occurrence =8téurrence ="2" x-occurrences="2"
x-occurrences ="1" HOOE)x- - 0| x-0ccurrence = "1” x-occurrences =17

occurrence ="1" x-occurrences="1”, [ I[]J|x-occurrence="1" X-



6 CONTENTS

occurrences ="1" ] ]ll|x-occurrence = "®.occurrences = "3", O x-
x-occurrences ="1”, [ | [ ]|x-occurrence =gttirrence="1" x-occurrences="1"
x-occurrences ="1” HHE)x- P [x-0ccurrence =72 x-
occurrence="3” x-occurrences="3" occurrences="2"[|]|x-occurrence="1”
[J|x-occurrence = ”3” x-occurrences = "42occurrences = ”1” OO x-
[IJ|x-occurrence = "3” x-occurrences = "®tcurrence ="2" x-occurrences="2"
L0 | x-0ccurrence =17 x- [L|x-occurrence ="1” x-occurrences ="1"/ |
occurrences ="1"[ ] ]|x-occurrence ="1"

x-occurrences ="1” 0000 -

occurrence="1" x-occurrences="1"
L) x-occurrence = ”1” x-occurrences = ”1” 120 00OOEEEC ) x-0ccurrence =717

[J|x-occurrence = ”4” x-occurrences = "g=0gcurrences = "1” [1|x-occurrence ="1"
x-occurrences ="1" OO0 x-
occurrence="1”" x-occurrences="1"

[ LI]]x-occurrence = ”1” x-occurrences = ”1”

11L[J|x-occurrence ="1" [ []|x-occurrence ="1” x-occurrences ="1"
x-occurrences ="1" CO00|x-  Uo|x-occurrence =17 x-occurrences = 72”
occurrence="1" x-occurrences="1", IR |x-occurrence =”1” x-occurrences ="1"
CHAE x-occurrence =717 x- [LL|x-occurrence ="1” x-occurrences ="1”
occurrences ="2" [ | ]|x-occurrence ="1 " ]'l|x-occurrence = "2” x-occurrences = "2”
x-occurrences = "2” (00 |x- [|x-occurrence =717 x-occurrences = 2"

occurrence="1" x-occurrences="2", || l|x-occurrence="1"x-occurrences="1"
[JJ|x-occurrence = ”1” x-occurrences = ”2%_|| x-occurrence = ”1” x-occurrences = "1”

U0 x-occurrence = ”1” x-occurrences &2 || x-occurrence =17 X-
[JJ|x-occurrence = ”2” x-occurrences = ”®¢currences = ”3” L|L|x-occurrence = 717
OO x-0ccurrence = 717 x- x-occurrences="1": [ |]|x-occurrence ="1"

occurrences = ”1” [ |x-occurrence = ”1”x-occurrences = 72" L|||x-occurrence = 1"
x-occurrences = 1”1 [ ]|x-occurrence =%idccurrences = ”1” [ |]|x-occurrence = 72”
x-occurrences = "2” |- x-occurrences =727 OO0 x-
occurrence="2" x-occurrences="2" occurrence="2" x-occurrences="3"

(0 x-occurrence = 17 x-occurrences =727 || x-occurrence = ”1” x-occurrences = "1”
[]|x-occurrence = 1” x-occurrences = ”3%_|l|x-occurrence =71 x-occurrences = "1,

3, [Jjx-occurrence="1" x- LL|x-occurrence="2"x-occurrences="2"
occurrences ="1" HOO0000M)x- L |x-occurrence =717 x-occurrences = 17
occurrence="1" x-occurrences="2" [ [I]]|x-occurrence="1" X-

[JJ|x-occurrence = 1” x-occurrences = ”becurrences = 1" L|L|x-occurrence = 717
[])|x-occurrence = ”1” x-occurrences = “K?occurrences = "2”, L ]| x-occurrence = "1”

[l]|x-occurrence =71” x-occurrences = ”¥2occurrences = "1” OO0 x-
[[]|x-occurrence = "2” x-occurrences = ”®¢currence ="1"  x-occurrences="1"
J|x-occurrence = ”2” x-occurrences = 2% [ LL]]|x-occurrence = 3” X-
[JJ|x-occurrence = "2” x-occurrences = ”®¢currences = ”3” L] _[]|x-occurrence ="1"
L0 ) x-occurrence = 72 x- x-occurrences="1"[]J|x-occurrence ="2”

occurrences = ”2” [ ] | ]|x-occurrence = X26ccurrences = 2"
x-occurrences = "2” [ ]l|x-occurrence =73 [T CICCCOOE

S+ 1.11 00 0000 0000 00: - 00000000 00000 HO000 0ooo 000, 000 0000 000
U0 00 D00o0o00 00 000 0000 oo




CONTENTS 7

13| x-occurrence ="1” occurrences="1" LOOO00|x-
x-occurrences ="1" UOEE)x- occurrence="1"  x-occurrences="1"
occurrence="1" x-occurrences="1" [ [[L[l]|x-occurrence ="1" X-

L) x-occurrence = 717 x-occurrences sédirrences = 717
L[]|x-occurrence = 1" x-occurrences = "1”

L |x-occurrence =717 X-
occurrences ="2" DDDE(-occurrence =717 150000 |x-occurrence =17
x-occurrences ="1" x-occurrence="1" — »o»
x-occurrences="1"; DD| |x-occurrence =", -,gccurrenc_es”—” 2 DDDDD_D,J X,,

1o ccurrence="1" x-occurrences="1
X-occurrences = 1 DDDDDD,J X O] x-occurrence =717 X-
occurrence="1" x-occurrences="1" ,ccyrrences="1” [ ]|x-occurrence="1"
LlJ|x-occurrence =1 x-occurrences = "1 .currences = 1" | OO0 -

71 7

1 » —
%%mx-occurrence = 3 x-occurrences = ¢liyrrence="1"  x-occurrences="1"
DDEE%:currence ="1 X-occtrrences = | x-occurrence =”1” x-occurrences = 3"
|x-occurrence ="2 X [ J]x-occurrence ="1” X-

__»eon» __»»
occurrences = "2” [ [ |l]|x-occurrence = 712 rrences = 717 D000|x-occurrence =2

x-occurrences ="1" UOO0]%- g-oecurrences = 727 O000000|x-
__»1» 19|
occurrence ="1” x-occurrences="1"l1 ... o0 »1» 4 Gccurrences="2”

[O|x-occurrence = ”1” x-occurrences =17
[LL|x-occurrence =1 x-occurrences = "1”

14[]]|x-occurrence ="1” L0 x-occurrence = "1” x-occurrences =717
x-occurrences ="1" 0)x- [J]x-occurrence = 72” x-occurrences = 73”
occurrence="1" x-occurrences="1" [| Il I[L[[[]|x-occurrence="1" X-

LJ|x-occurrence = "1” x-occurrences = 8t¢urrences = "1” [ | ]|x-occurrence ="3”
[ [|x-occurrence = ”1” x-occurrences = ”K2occurrences = ”3” [ | | ]|x-occurrence = 1"
[ |x-occurrence =”1” x-occurrences = ”¥2occurrences = "1” [ | ]|x-occurrence =717

L[]|x-occurrence = "1” x-occurrences =%idccurrences = 1" 000 x-

[ [|x-occurrence ="1” x-occurrences = "betcurrence ="1" x-occurrences="1"
X-occurrence = X- X-occurrence = X-

Hooon ”1” Hooood 27

occurrences ="1" | | |[]|x-occurrence = t¢urrences = "2” [ | ]|x-occurrence ="1”

x-occurrences ="1” OO x- x-occurrences =17 000 x-

occurrence="1" x-occurrences="1": occurrence="1" x-occurrences="1"_]

[ []|x-occurrence ="1” x-occurrences = ”12|x-occurrence = ”1” x-occurrences = "1”
[IJ|x-occurrence = "1” x-occurrences = "1% ||| x-occurrence ="1” x-occurrences = "1".
L) x-occurrence = 717 x-occurrences %[¥8ecurrence = ”1” x-occurrences = 1”:12|x-
LEEC |x-occurrence =717 x- occurrence="1” x-occurrences ="1")



